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THE INDUSTRIAL REVOLUTION
Aim: How and why did the Industrial Revolution begin?
The Industrial Revolution was a period of time during the 1800's of great industrial development. New machinery was invented in order to speed production and to increase productivity.  The Industrial revolution also helped cause Globalization, which means that there is a worldwide market.  Nations trade with each other. Import/ export is very important. (Note: made in China)

One Invention leads to another – Ex:
John Kay invents a flying shuttle for hand loon (1733)à creates wider fabric, weaving is done faster à need more yarn, faster production à James Hargreaves invents the Spinning Jenny, it made yarn faster (1765)à Richard Arkwright invents the water-frame, so spinning can be powered by water (factory spinning) (1769) à Sam Compton invents the spinning mule, combined spinning jenny and water frame (1779)à increased speed and productivity and created more thread then hand weavers could use à Edmund Cartwright invents the power loom, spins thread faster and uses water powerà creates a need for more cotton à Eli Whitney invents the cotton gin, removes cotton seeds from cotton faster (1794)à cotton is raised faster à less skill required, more factory jobs, more products, leads to excess which is exported, leads to Globalization of the world economy eventually. 

A. TEXTILE INVENTIONS

1700's – During the 1700’s there was a lot of rural production and the domestic system was used. 
The domestic system was a system in which there was a division of labor which is when a person purchased material and then paid numerous other people to do certain steps in the process of making a final product. This was costly, time consuming, required much skill and had very low production numbers (output).   Therefore, making it very inefficient. (Ex: Cloth: wool raiser–> farm families to clean, sort, spin–> weaver–> fuller–> dyer–> market.)
Inventions-

YEAR                INVENTOR                     INVENTION                  PURPOSE

1733    John Kay                 flying shuttle              weaving twice as fast
1765    James Hargreave             spinning jenny           8 threads spun at once
1769    James Watt                 steam engine                  replaced water as major power source
1769    Richard Arkwright          water frame              used water to spin
1779    Samuel Crompton           spinning mule            increased farm production 
1785    Edmund Cartwright         power loom                    water powered
1794    Eli Whitney                         cotton gin,                      cotton more available, started factory line
                                    (interchangeable parts)   
Factory line is when many people work together, each doing a different specific job in order to complete the creation of an object. 
 
New power sources: It started where all work was done by hand, then à hyro-power, where power was gotten from a water source, it had to be near a river but if there was a drought, it was useless. Then à steam power, (James Watt in 1769), steam engine was used to generate power by using coal to ignite a fire, pushing the object, emitting steam.   
1800's – the work shifted from rural using the domestic system to urban, utilizing steam power and factories.  New jobs were created and new machines were invented. 
   
B. AGRICULTURAL REVOLUTION
A. Enclosure movement – It occurred when people combined and bought up lands in order to form large land holdings. 
  Result: smaller farmers became tenant farmers or moved to the cities.  Farmers could experiment with new crops because of the vast lands they owned. Also, it was much more efficient, leading to cheaper products and larger production numbers (crops grown).
 B. Inventions-
             1. Jethro Tull- HE invented the seed drill – It seeded and plowed the ground, doing the work of many people and doing it faster.
             2.  Robert Ransime- He invented the iron plow (replaced the wooden plow, increased speed and farm production) —> Less demand for farm laborers–> more farmers moved to the city.

C. POPULATION EXPLOSION
Why??
Lower death rate 
Because…
    No famine
    There was more food available and people ate better
    Better medical care  became available.
—> therefore, there were more workers and more potential buyers. 
 

D. Other Inventions
YEAR                INVENTOR                            INVENTION                 PURPOSE

1807    Robert Fulton                      steamboat         faster form of transportation, more reliable and more durable 
1829            (anonymous)              locamotive              faster form of transportation, allowed people to go almost anywhere and fast.  Great for business, now they can span larger areas, creation of big companies etc. 
1856        Henry Bessemer         Bessemer process                 cheap and quick way to remove impurities of iron t                                                                           to create good steel. 
1866       Alfred Nobel                 Dynamite                                 Good way to destroy areas, in order to  build tunnels and for mining.  Also, used in war as explosives. 
1844    Samuel Morse               Morse code (telegraph)     New form of quick communication.  Precursor of the telephone. Brought nations together because of the speed of communication. 
 

AIM: WHY DID THE INDUSTRIAL REVOLUTION BEGIN IN ENGLAND?
    England had abundant resources – coal, iron and cash flow (gold)
    They gained vast resources from their colonies
    England is an island – it’s a good trading location, in the middle of trade routes 
    They had vast capital – money (gold and silver reserves) for investment, machinery and for scientific exploration.
    They had a stable government that supported business and investment 
    They had a lot of  workers and people willing to work. 
    They had great transportation - navy, Railroads, canals, navigable rivers

AIM: HOW DID MODERN CAPITALISM EMERGE FROM THE INDUSTRIAL REVOLUTION?
    There was a change in manufacturing; it was mass production. (needs people to buy the machines) Factors of production = land, labor, capital resources, all in one place, at a factory.  A factory needs an owner to front the capital. Owner = capitalist = entrepreneur (person who starts his own business) = assumes all the risk and reaps all the rewards. 
 
Capitalism:
1.      Private ownership - individual owns means of production, pays for everything and takes all responsibility
2.      Sole Proprietorship – business owned and controlled by a single person. 
3.      Partnership – business owned and controlled by a group of people.
4.      Monopoly – a single corporation or business that controls all the steps needed to produce a product – complete production cycle. 
5.      Business cycle – cycle of rises and declines in the economy
6.      Depression – lowest point of the business cycle. 
7.    Free enterprise- System where an individual can enter any business and run it as they wish (not in all countries- in US limited free enterprise now-  no child labor, minimum wage, can’t beat employees etc.)
8.  Profit motive – Make money from investing 
9. Competition- More competition = lower prices and better service, only the best survive (cutthroat competition – Where companies lower prices to a point where they are losing money in order to force their competition to go bankrupt.)  
10.  Supply and demand – The more demand, the less supply, the higher the prices or visa versa.  
 
AIM: THE ADVANTAGES OF THE INDUSTRIAL REVOLUTION 
            Although there were many disadvantages about the life of people during the Industrial revolution as you will see below, it had a lasting effect on the world, thereby making it another good event in the evolution of man. 

During the Industrial Revolution…

    Many new technologies and ideas were thought up and invented. 
    Steel production increased
    Coal production increased and coal became the leading energy resource of the world. 
      Life expectancy increased because of better medicine and widespread care. 
    Conditions eventually increased because labor laws were established. 
    Capitalism became a worldwide institution and helped leads to democracy. 
    Per capita income increased throughout Europe and the United States (yearly money per family)
    Agricultural and Industrial production drastically increased 
    People shifted from farms and moved to cities 
      
 

AIM: THE PLIGHT OF THE INDUSTRIAL WORKER (How did reformers try to help workers?) 
    During Industrialization, skilled workers lost their jobs. Their jobs could now be done by machine. Unskilled workers, women and child took the place of skilled workers and received pittance for pay. The owners were able to justify this because there was an increase in the population and an influx of workers from farms who were willing to work for very little pay.
Factory conditions: 
    They had a rigid schedule - long hours, few breaks, bad conditions, too many days 
    They had monotonous (repetitive) work, heavy loads and hard labor
    They were paid very low wages (because  so many people needed jobs, they were paid very little, supply and demand applies)
    They worked under unsafe conditions with no protection.  There were many accidents.
    They received no compensation for injuries or other losses. (They were fired or paid less)
    They were forced to work through freezing temperature in winter boiling heat in summer
    They factories were unventilated (either no windows or they weren’t open), there was a lot of smoke–> causes lung disease, cancers and other such deadly illnesses.
    There was child labor; they were paid less and worked long hours (ages 4+ worked)
    People. Especially children were beaten if they didn’t do their work perfectly.  Abuse was widespread. 
      Got paid about penny/hour 
       No cool areas in cotton factory
    Dangerous gas which caused deformations and premature births and death at a young age.
    People received very little food. 
    (women and children who worked in coal mines were called “carriers” because they had to in to the poisonous and dangerous minds and carry up loads of coal.) 

Cities-
    Overcrowded
            Pollution was widespread – in the air 
     Very dirty
    Much noise
    Stench of pollution and of polluted rivers 
    Mostly slums, tenements (houses)
    They lived squalor, poverty was everywhere
    There wasn’t any electricity/light, water, sanitation or  sewage
      Breeding ground for disease and for the spread of them
    The houses were near the factories – pollution, noise and garbage 
    It was dark and polluted 
 

AIM: WHAT LEGISLATION WAS PASSED TO HELP FACTORY WORKERS? 
A . The Health and Morals Act of 1802
1. Lowest age of employment is 9 years old 
2. Children under 14 can’t work more then 12 hours a day 
3.  Children cant work at night 
4.  Factories must be whitewashed (cleaned) twice a year 
5.  Employed children must receive 2 suits of clothing per year

B. English Factory Act of 1833 
1 .No one under 18 may work between 8:30 PM and 5:30 AM 
2.  No one under 18 may work more then1 2 hours  day
3. No one under 18 can work more than 69 hours a week
4.  1 1⁄2 hours a day must be set aside for meals
5. In silk factories, children under 13 cant work more then 10 hours a day 

C. The Peoples Charter of 1838
1.We protest that the government is controlled by the rich for the benefit of the rich 
2.We protest that the rights of the poor, majority of populace are ignored
3. Demand change in government so that all people are served fairly
4. We demand that all men should be able to vote for members of Parliament 
5. We demand that elections be a secret ballot
6.  We demand that Parliament be limited to 1-year terms
7.We demand that a law be passed, which ends the property qualifications necessary to be a Member of Parliament. 
8. We demand that Members of Parliament receive a fair salary 
 
The king appointed 4 inspectors of factories that employ children under 18 that may come and inspect any day at any time. 
Only in silk mills may children under 9 work 
Any child under 11 may not work more then 48 hours a week and 9 hours a day 

D. The Coal Mine Regulation Act of 1842 
1.No females may work in mines. 
2.  No child under 10 may work in mines. 
 
AIM: SHOULD THE WORKING POOR BE HELPED?
There are 2 sides.  One side argues that business should be let to do whatever it wants. The other side says that capitalism is done and that reform is needed. 
No- laissez faire    (let do) (let business alone)   
LAISSEZ FAIRE - "let do" in French.  The theory that the government should leave businesses alone and not interfere.
    Adam Smith – He wrote, “Wealth of Nations”. The market handles itself.  Supply and demand and competition regulate business and economic activity. Competition is king – the more competition - the higher the quality.       Industrialists liked this policy because it gave them a reason to justify high prices, because if many people wanted a product they could charge as much as they want in order to  increase profitability. 
Complete free enterprise.
If you don't like where you work, go somewhere else.     
    Thomas Mathus-  He wrote, “Essays on Principles of Population”. Population will grow faster than food supply.  War, famine, and disease will stop it.  People are poor because people have too many babies.  
    David Ricardo- He wrote, “The Iron law of wages’ - supply and demand determine wages inversely.  Wages will inevitably drop with the increase of pop and workers.
 Supply of labor–>more workers–>low wages—>more unemployment.
        Higher wages = more people want to work = 2 little jobs = wages decrease
        Yes- Utilitarianism/socialism (reform, let everybody be equal)
(Totalitarianism - the political concept that the citizen should be totally subject to an absolute state authority – important to know) 
UTILITARIANISM (?) – Theory that every act of a society should be judged by its usefulness.
SOCIALISM - The theory and system that says that the government should control production and business.
Utopian Socialism – Socialism based on the belief that people will surrender their property peacefully, invented by Thomas Moore. 
Authoritarian Socialism  - Socialism which comes to power by force, revolution, no human rights (like communism)
*Democratic Socialism - it is when the government takes over the means of production peacefully, but the peole retain basic human rights partial control of economic planning
    Jeremy Bentham- He developed utilitarianism. He believed that the goal of society should be to achieve the greatest amount of happiness for the greatest amount of people. Laws should be made and judged by their usefulness and the government should regulate business. (minimum wage is good) Ex- a useful law is one that brings happiness to the general populace.
Education is vital for people to know what is good for them and to help society prosper and advance. 
    John Stuart Mill- Thought that government should strive to accomplish the well being of citizens.  People should only obey laws if they had a part in making them.  Believed that all people are equal and should have the same voting rights and the right of free speech.
    KARL MARX (edit)- communism/Marxism
wrote: The communist manifesto (1848) and Das Kapital (1867)

Stages
Tribes à slavery à feudalism à Capitalism and Industrialism à Marx calls for Communism 
Karl Marx believed that human civilization had passed through several stages.  First, people lived in tribal communities and owned property and worked together.  Then, as time progressed, slavery moved some people into the ownership of others who also owned all the property.  Then came feudalism, in which a few powerful lords owned all the property, and serfs lived on it and worked, but they were not owned by the lords.  Finally came capitalism, the stage Marx was looking at, in which everybody was free to own property, and some people owned tools and hired others to operate them.  Marx believed that after this stage was over, the land, property and wealth would be evenly distributed throughout the population, and all would contribute what they could and would receive what they needed.  He called this "pure communism", and, unfortunately, every attempt to institute it has failed miserably.
 
A. History - driving force of history was the economy 
    He believed that class struggles caused all the problems, social classes in conflict
    "Haves"(bourgeoisie- owners) &"have nots" (proletariat- workers)
B. Exploitation of the worker - owner cheats worker by taking all the wealth (profit) from the workers labor and paying the worker very little, therefore, workers should revolt and take control of the business and distribute profits equally. See C. 

C. Communist revolution
    Worker revolt vs. owners. Abolish all private property.  Make everyone equal, no government, let people rule themselves.
D. Dictatorship of the proletariat. People will continue the means of production.  Everyone will share in work and profits equally. 
    classless society
    "state will vanish" - no government, only people, everybody is equal.
 
AIM: HOW DID THE CONDITIONS FOR THE WORKING CLASS IMPROVE?
    Protesting       
1.      Luddites – ran by a man named Ludd. They smashed machines to show their anger (“labor saving machines”) 
2.     Chartists – People who by the Peoples charter of 1838; they wanted governmental reforms 
3.        Women’s Suffrage – women wanted the right to vote and they went on strike. 

Laws
Laws were written to ease child labor, also on sanitation and on working hours. 

Unions 
Unions are groups of people, usually that do the same job who stand together and work together in order to get things done, like increased wages etc., they all go out on strike instead of just a few people. 

Union weapons – Sabotage, boycott, strike and sit-in (where people just sit down and stop working while on the job) 

Collective bargaining – negotiation between union members and their management where all the union members get together as a single body to negotiate. 
Owner/ business weapons – 
1 - Blacklist (a list that circulates between owners saying the names of people who shouldn’t get jobs because of reasons like union member or leader. )
2 - Injunction – where the owner gets a court order forcing the strikers back to work (usually only if the strike has an effect on public safety.)
3 – Lockout – the owner locks out his employees from working
